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931-879 [Barbie V)V T Z SQRV IS 2,288 2,080 2,398 2,180
931-880 |Barbie ¥ TV 75 OVA—/\IL 2,288 2,080 2,398 2,180
931-881 |Barbie Y T/V TS RCTYY FO—F— 2,288 2,080 2,398 2,180
931-882 Barbie V)V TSV IFI3aATLVF 2,288 2,080 2,398 2,180
931-883 |Barbie ¥ T/IV TS WD U1 >V H— 2,288 2,080 2,398 2,180
931-884 |Barbie VTV 7S LAY T SAF— 2,288 2,080 2,398 2,180
931-885 |Barbie VTV T F5¥ SLY3—bF5AF— 2,288 2,080 2,398 2,180
931-652 [Barbie #5—2 /L 3gPKOIM /N\—E—E> S 1,320 1,200 1,430 1,300
931-653 |Barbie 15— 1) 3g PKO2M 2 7 1 — 1,320 1,200 1,430 1,300
931-654 [Barbie #5—< /U 3gPKOAM 71—+ 1,320 1,200 1,430 1,300
931-655 [Barbie 77— 1/l 39 PKOAM )L—T 2 1,320 1,200 1,430 1,300
931-656 |Barbie 71> —< 1)L 3gPKOSM 7 L—7 1,320 1,200 1,430 1,300
931-657 |Barbie 77— ) 3gPKO6M 75 =0 1,320 1,200 1,430 1,300
931-658 |Barbie #iZ—< T/ 3gPKO7M O )Ry 7 1,320 1,200 1,430 1,300
931-659 |Barbie 15— /)l 3g PKOBM X FON!) — 1,320 1,200 1,430 1,300
931-660 [Barbie #>—< 1)l 3gB-PKST 8B+~ | 10,560 9,120 11,440 9,880
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